THAEETHY KERE(EBRREBE)ER (TR/IRIESX

(Fm%KE (RK)]

E__H X 2 10 A 117 12 7 1A 2 _H 3_H
= A 23.0 15.5 8.2 6.2 10.6 15.4
SR °c) gz /M -3.1 -4.2 -17.9 -22.2 -20.3 -8.9
I Y 10.3 5.1 -3.5 -7.3 -5.0 2.6
= K 18.2 12.3 8.2 45 4.0 6.8
KB (°c) = 11.5 8.0 3.1 2.2 22 3.0
B 14.3 9.7 5.2 34 3.0 46
&= X 3 10 2 1 1 1
aE () g /b 1 <1 <1 <1 <1 <1
iy 2 1 1 <1 <1 <
= X 1.2 6.8 1.1 0.9 0.8 0.8
AE (FE) 5 /I 0.5 0.5 0.6 0.4 0.4 0.4
i 0.7 0.7 0.8 0.6 0.6 0.6
&= X 7.8 7.8 7.7 7.8 7.8 7.8
pHI{E& & /b 7.4 75 75 7.6 7.6 76
T B 7.6 7.6 7.6 7.6 7.7 7.7
22X YR EYER YR EYER YR HEYHER
X1 BEHORAERIIRDELYTT,
KR FKIGE N
KB -BE-FE-poHIE - L RY i El
BR---HKHF
X2 FEKDAE -BE -pHEIL. KEEHEF[LIEHGAEEITO>THYET,
(FmEIEKE GEK)]
18 E] X # 10 B 11 B 12 B 1 8 2 B 3 H
&= KX 17.6 12.5 9.1 49 3.7 5.9
KB (°c) &= /M 12.4 9.0 42 32 3.1 35
E Oy 15.0 10.5 6.1 4.0 3.4 47
= XN <A <1 <A <1 <A <1
aE (&) & /M < 1 < 1 < 1 <1 <1 <1
E OB <1 <1 <1 <1 <1 <1
= X < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
AE (&) & /M < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
I < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
= X 7.0 7.0 7.0 7.0 7.0 7.0
pH{E& 5 /b 6.8 6.9 6.9 6.9 6.9 6.8
E Y 6.9 6.9 6.9 6.9 6.9 6.9
R EELHL EELL ER A EELL EELEL EEHL
[ I EELL A EELL ER A A
&= KX 0.54 0.53 0.52 0.51 0.55 0.54
HEiER (mg/L) 5 /N 0.47 0.47 0.47 0.45 0.44 0.46
I 0.51 0.50 0.50 0.48 0.49 0.49

X FEKRVEKDBE - BE-pHIE-ERBIERL. KEBHEFHRICIIERAELZTOTEYET,

1/3



(FE—h AR T5)

BE___H X & 10 A 11 B 12 A 1 H 2 A 3 A
& AREO | BauL | maul | mmusl | Ewsl | msolf | msslf
2EEE =AY AN A A EEiGL EEGL
&Y o b0 | BauL | mwsl | ®usl | ®asl | ®asl | Rasl
&= X 0.63 0.59 0.57 0.55 0.56 0.57
REBIER (mg/L) g /h 0.56 0.52 0.50 0.50 0.50 0.50
B 0.59 0.56 0.53 0.52 0.52 0.52
X 2REIADEEX, BERETHRELTHET,
(85 =i 715)

E___H X & 10 A 11 A 12 A 1 H 2 A 3 A
& ARLD | muul | BEwsl | ®asl | magl | Bsal | 2asl
BEphE SEES IR oYY TR EEREN TN
&Y anilO | masL | Bwul | ®asl | BRasl | Bsul | Raul
&= K 0.54 0.54 0.55 0.50 0.51 0.52
REBIER (mg/L) g /b 0.47 0.47 047 0.44 0.45 0.45
T 1y 0.51 0.50 0.50 0.48 0.48 0.48

GIRaKkE2]
E__H X & 10 A 11 R 12 A 1 A 2 A 3 A
& ARLD | mmnL | mEwsl | ®Eaal | ®Easl | Basl | Bas
BEphE SEES S EOR/N EREN Em/d oL
&Y anelO | masL | Bwul | ®ssL | Rasl | Bsul | Raul
B X 0.34 0.37 0.36 0.38 0.36 0.38
REBIER (mg/L) & /M 0.27 0.29 0.30 0.30 0.33 0.33
Iy 0.31 0.33 0.32 0.34 0.35 0.36

(FmaKkm2]
E__H X % 10_A 11_A 12 A 1A 2 A 3 A
& ARLC | mEsL | ®Ewal | mEwsl | ®Eusl | BEsL | 2au
Eﬁa)ﬁ# FE AL E S FHE AL Sl EH/ Sl
&Y o b0 | muuL | mmsl | musl | ®asl | ®asl | ®ssl
&= X 0.52 0.51 0.53 0.51 0.50 0.52
REIER (mg/L) &= /M 0.44 0.44 0.44 0.44 0.43 0.45
Ty 0.49 0.48 0.48 0.47 0.46 0.48

X BEHRRVTHERUSKRICKES-BES, BE. RBRERFTOKEEHFHCTOERAEICLY, EELTLET,
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15 X & 10_A 1R 12_A 1A 2 7 3 A
& AL | BEaL | masl | mEusl | mEsl | BEsL | BasL
BEDEE I/ Al s Al s A/
&Y o b0 | BauL | mwsl | ®usl | ®asl | ®asl | Rasl
= X 0.48 0.49 0.49 0.49 0.49 0.49
HKEER (mg/L) & /) 0.43 0.43 0.43 0.42 0.42 0.44
B 0.46 0.46 0.46 0.45 0.46 0.46

(LB KA3]
15 X 2 10 A 111 12 7 1B 2 1 3 1
& ARLD | muul | BEwsl | ®asl | magl | Bsal | 2asl
BEphE I/ i s /s s A/
&Y anilO | masL | Bwul | ®asl | BRasl | Bsul | Raul
= X 0.35 0.35 0.36 0.37 0.38 0.39
REBIE®R (mg/L) = /» 0.29 0.30 0.31 0.31 0.35 0.35
E B 0.32 0.32 0.34 0.35 0.36 0.37

(kLB KRA)
15 X 2 10_H 117 12 7 1B 2 7 3 A
& ARLD | mmnL | mEwsl | mEaal | BEusl | Basl | Bas
BEphE SEXLS E Al s /s E M/ A/
&Y anell | masL | Bwul | ®ssL | Rasl | Bsul | Raul
= X 0.34 0.36 0.38 0.38 0.37 0.38
HREBIER (mg/L) &= /D 0.26 0.28 0.29 0.31 0.33 0.34
E 1 0.30 0.31 0.33 0.34 0.35 0.36

(RRmKR]

5 X % 10_A 1A 12 A 1A 2 A 3 A
& ARLC | mEuL | ®Ewsl | mEwsl | ®Busl | BEsL | 2au
Eﬁa)ﬁ# FE AL EHi FE AL YA EHid EHid
&Y ol b0 | mauL | mmsl | musl | ®asl | ®asl | 'ssl
&= X 0.54 0.54 0.53 0.52 0.53 0.50
HEBIER (mg/L) = /D 0.48 0.47 0.46 0.46 0.44 0.44
S| 0.52 0.50 0.49 0.49 0.48 0.46

X EDKRICRESN-BES. BE. RBRERTOKEEHHBRTOERAEICLY., EELTLET,
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